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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

wrong answer

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.

B ik =

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.I1R. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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Do not open this Test Booklet until you are asked to do so.
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Choose -ther &offect statement from the

following statements —

Statement-I Human resource development is
a part of human resource
management.

Statement-II Human resource management is
a part of human resource
development.

(1) Statement [ is correct

(2) Statement II is correct

(3) Statement I is wrong

(4) Both the statements are correct

Revolution in agricultural in India is known

as -

(1) White Revolution
(2) Red Revolution
(3) Blue Revolution

{4) Green Revolution

Which of the following factors is not included
in the economic factor affecting consumer
behaviour?

(1) Personal Income

(2) Personality

(3 Liquid Assets

(4) Family Income

The methods and techniques of Marketing

Research are -

@)
)
3)
@

5. When did the President give assent to the 5.

Survey
Observation
In-depth Interviews
All of these

Consumer Protection Act, 20197

= wem | 9§ 98 PUF gAY — @

FUI-I AMG WEEF e, AFa
+ e W BT ST B

- 11 ARG G Yee, 9d

1) w19 T

(2) PN Iad &

(3) @M I9ad B

@) <FE T aE E

AN A P B 83 H g Hia B W@
off?

1) <aq swifa

) < shifa

(3) el wmifar

@ =Ra wifd

Frafafag § § P91 Ted STHT JaER
DI GHifdT B aren e Tew d Wi
TE 87

1) =l a™

() wikT

(3) wRa GHRT

@) TRERE 3"

o srgeuE @1 AR ok Tee
g“_

(1) e

(2) SrEeDT

@) T HEThR

@ SR G

STt S SugTT EREl SRR, 2019 6

wiepld $9 e Bi?

(1) 9 August, 2019 (1) 93T, 2019
(2) 9 October, 2019 (2) 93X, 2019
(3) 7 September, 2019 3) 7R, 2019
(4) 7 November, 2019 @) 7R, 2019
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10.

Educational Psychology is definitely branch of 6.

= Psychology which prominently helps the cause

of coviiiiiiiiiinan, i
(1) Teaching and Motivation -*
(2) Personality and Learning
(3) Teaching and Learning
(4) Motivation and Personality ¢ !

Which of the following model guicfed teachers 7.

to go to the depth of the contént?
(1) Inquiry model
(2) Concept attainment model
(3) Advance organizer model |,

(4) Interaction analysis model

Pradhan Mantri Awas Yojana Gramin 8.
(PMAYG) was launched in which/of following
year?

1) 2015

(2) 2016
3) 2017 !
4) 2018

The causes of resistance to change, based on 9.
the emotions, tendencies and expectations of
the people are called -

(1) Economic causes

(2) Technical causes

(3) Psychological causes

(4) Social causes

Rural Connectivity Project for Left Wing 10.

Extremism Areas (RCPLWEA) was launched
in which of following year?

(1) 2016

(2) 2018

3 2014

(4) 2015

e e T oy ¥ HiksE A

= A | 9 91 vimE Bree @) vy —
TR B TETAT Bl 3NN AR el 27
1) Yoare umE

(2) TR v ufme

3 R — =gawen ufmE

@) sFafmar e gidar

TEHAT mar roTT T
(@longagsl) B = ¥ 0 foa af yRy
foar ram enm?

(1) 2015

(2 2016

(3) 2017

@ 2018

Al Bl WEaR, FgREl T4 $eoi W™
R 5 gRedsi o7 afeker giar &, 9

4) FINTG HRUT
AT (RCPLWEA) 1 & 9 5w o
URH B 87

(I 2016

(2) 2018

3) 2014

@ 2015
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“11. Which spécial zorie has been established for 11. fFafal @1 U &7 @ ol BT W o
export promotions? &3 ST T 87
(1) Special Protected Zone (SPZ) 1) =y Heeor &9
(2) Special Reserved Zone (SRZ) 2 e aRfée &=
(3) Special Restricted Zone (SRZ) 3) fouw uReEka a=
(4) Special Economic Zone (SEZ) @ Ry anfdis &=
12. Which of the following is not included in the 12, Fr=ifRem # @ I s gsil IR 4
unorganized.capital market? ) Eﬂﬁa :@ &?
(1) Money Lenders @ W
(2) Indigenous Banker (2) E dPx
(3) Debenture Holders (3} EUITHA 9RE
(4) Sarrafs ﬂ @ W®
13. Main areas of Educational | Psychology 13. <@ #fReM & wi@ &= § wifen
includes — g -
(A)  Society , (A) S
(B) Learner 5 tB) SRR B alel]
(C) Learning process (C) IRFM I ufar
(D) Learning situation (D) fr & Refy
(1) A,BandC () A,B3iRC
(2) A,BandD 2) A,B3RD
(3 B,CandD (3) B,C3RD
4 A,CandD 4 A,C3iRD
14. A, B and C are partners in a firm. ¥ A 14, % B4 & U & 7 @ 99 ¥RER T ¢
withdraws T 3000 at the time of beginning of 3000% SRME & URA ¥ 3MEN0] BT ©, 99
each month. What will be the interest on & 3T H T STEO IR o161 a1 W arer
drawing charge to A at the.end of year? If rate =TS fha= BrI? afe 12% aiffe = &%
is 12% per annum - B —
1) 2160 (1) 21603
2) X360 (2 360%
3) T1980 (3) 1980%
4y 2340 ¥ @) 2340%
15. An amount set-aside to meet known liability is  15. i§ﬂ?r ifeg @ gfd @ forg gore @ <& s
known as - AR HEAR F —
(1) General Reserve (1) UFFI §9g
(2) Revenue Reserve 4 (2) STTH W=
3) Provision o 3) W
(4) Secret Reserve . @ T Ty
05- 3k Page 4 of 32.
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19.

20.

What was the initial problem noticed, when the  16.
New Economic Policy started in 19917

(1) Poor performance of public sector
(2) High tax rate

(3) Foreign money crisis

(4) Control on private sector

Debit note and credit note are - 17.

(1) source documents

(2) subsidiary documents

(3) secondary documents

(4) vouchers
Which of the following is an illustration of 18.
sunk cost?

(1) Interest on capital

(2) Production cost excluding Direct
material cost

(3) Expenses on erection of an machinery
(4) Cost of Building, Plant & Machinery

The birth of Functional Organization is 19.
attributed to -

(1) Allen

(2) F.W. Taylor

(3) Henri Fayol

(4) Peter F. Drucker

“The of International Trade is 20.

comparative difference in costs.”

basis

This definition was given by -
(1) Ricardo
(2) J.S.Mill
(3) Taussig
(4) Haberler

1991 ¥ =% anidie Y o oo @& W

A T Ty ofi?

(1) IE9I® &9 P RN Heuie

(2 SEWR

(3) facel g5 Hae

@) e & w S

T Bl fogt 9 W Py R € ~

D) ST -

(2) EEF TG

@) s v-—vae

@) e

FeifeT 4 9§ B9 91 399 A B U

JEIET &7

1) Yol R &

(2) SRS AR IeT ARl AT B
el 81 B §Y

) W ¥ Senfld v ) g

@) 94, < 9 72N @ AT

b e © Wi &1 29 fer <imar
3
(1) o

(2) UBSY, TR
(3) & A
@d) G T FaR
BRI B (s 1 ol s el ) M e L
MR HT JRR" e gamar #?

ST e Meul

1) Reret
(2) wiva f=
(3 difREr
@) TR
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21. Purchasing Power Parity Theory was given 21. % Wf waar gl foam faar o
by -
(1) Ohlin () St
(2) Adam Smith @ v Ree
(3) Gustav Cassel @) T B
(4) Harold @) s
22. The method in which computer assess 22. 498 faf R TR oAl & WRF — 6~
performance of students as well as students can B B YU BT AberT PRl &, WA &
give instructions to computer is - BRI Bl AT T wFHar T -
@ Diill ®
(2) Tutorial 2) ReEer sEsd
(3) Simulation 3) ITEUD
(4) Co-operative Learning (@) EICAS e
23. The present value of cash inflows of a project 23. TU& RO § VhS IFaig BT gaHA T
T30000 and initial investment ¥ 18000. 3000038 Td urfdd fafEm 18000 & |
Calculate Profitability Index. AMERIGAT GaAbid HId BT |
(1) 1.67 1 1.67
(2) 246 (2) 2.46
3 3.20 3) 320
@ 125 @ 125
24. India is a developing country due to which 24. YRAGU® fapraeile siefaaen $ w9 4 f&a
following characteristics? TGO Y YSHFT Widl &7
(1) Five year planning system (1) YTadE TSERT & BRI
(2) Per capita increase in food (2) vioEl} ErEmE $1 STEE 98 Ve
consumption & ,
(3) Decrease in economic backwardness ) gﬂ 1 3Rl FAwsT 3 B
(4) Per capita real income is increasing @ viaEfh aafe oF 96 W@ 8
25. Committed fixed cost does not includes - 25, gEdg Rer wrmEl § o T8 § —
(1) Discretionary fixed cost (1) fAers Rer are
(2) Sunk costs 2) sud TRT
(3) Unavoidable costs () U@ IrFg T8 ST
(4) Depreciation @) T
05- 3 Page 6 of 32
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26. 'Who first used the word ‘Entrepreneur’? 26. SEF YRR &1 WANT qauem fhw wfdw W
febar or?
(1 1.8 Mill 1) <iga. e
(2) Richard Cantillon 2 R=2 Piead
(3) F.H. Knight (3) THYT. A=
(4) Joseph Schumpeter @ Sow grier
27. What- do we call the movement of the 27. Jwgall, Harsil, gofl i} 5 gaii & smfaEf
economics of the world towards unrestricted W 9R IENEl 9 RG g @i
cross border movements of goods and services, elaaenst & T B S FT BFEg &7
capital and the labour forces?
(1) International Trade (D I @
(2) Liberalized Economy ) Wﬂﬁp‘d Srefarae
@) Globalization @) TR
(@)~ All of the above @) ST i
28. 'What do we call-the rate at which the Reserve 28. ¥WRug Rod §F g 8 R aiftiNgs &
Bank of India lends money to commercial P o9 SR ol &, 99 €Y Bl HEq & —
banks?
(1) Reporate O ¥
(2) Reverse repo rate ¢ @) Rad wr =
(3) Cash reserve ratio 3) TS M ENEIS]
(4) Statutory liquidity ratio (4)  9EiR TReraT SrdT
29. Which of the following is a feature of nominal 29. fF=feiRag & 9§ o9 9 TFHE & 9EER
partner? , i TR 27
(1) Contribute in capital’ - @) vyl @ @
(2) Participate in management (2) w&e ¥ 9T o
(3 Generally share-profits/losses (3) TR S/ E F AR g
(4) Unlimited Hability @) zﬁﬁﬂ e
30. “Unemployment may be defined as theidleness  30. "SR5 S fkal & Pfdpaar ¥
of persons able and willing to work.” Who UR™T & T8 ], O BRI B @ AN Ud
provided the above definition? . $BE ¢ | SURIEd uRemT feee &) 27
(1) De Mello L < A
(2) Keynes 2 @9
(3) P. Sargent Florence 3) Y Ir< gdaN
(4) None of the above @ SwE ¥ Big e
05- 3k Page 7 of 32
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31.

32,

33.

34.

35.

Whose area is wider in Business, Commerce, 31.

Trade and Industry?
(1) Business
(2) Industry
(3) Commerce

(4) Trade

v .
Deferred Revenue expenditure is/are shown in ~ 32.

........................... till final adjustment.
(1) Trading Account
(2) Manufactaring Account
(3) Profit & Loss Account
(4) Profit and Loss Account and Balance
Sheet

How many minimum number of members are  33.

required for registration of a co-operative
society?
(1) Two

(2) Ten
(3) Twenty
(4) Seven

Which of the following is not a method of 34.

estimating working capital requirements?

(1) Forecasting Net Current Assets
Method

(2) Projected Balance Sheet Method

(3) Stochastic or Miller-Orr Model

(4) Operating Cycle Method

Which function is not included in physical 35.

distribution?
(1) Storage
(2) Transportation
(3) Inventory management
(4) Market research

@ < — B " g fEr

fopey el B aTgEHal 87

@ T

(2

@) 9=

@ g

frifea & 9 oW oEaE gol
ATaTgBART B AN o o Ay T8 87
(1) = e, FRT gargAr

(2) w&ad forgr @

@) wRes Jar AaR—iR gfaa™
@) uREre =% fafer
Qg e ¥ b ot afafed T8

14
D YR

(2) uResd
(3) T UEy
@) 9SR I/

05- 3k
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'36. In which method of demand forecasting, we 36, 57T Q@R B frer fARY & T o7 =iy

assume the time is a independent variable and TR AT H1T |13 Bl NP TR &5 B T
demand quantity is a dependent variable? FT W ST \_rl'lﬁTﬂﬁ? /f/
(1) Trend Project Method (1) SysRy weor fafy
(2) Modern Econometric Method @ 3”@”35 areifPRirg fafy
(3) Graphical Method B CINEERCIE)
(4) Economic Indicators Method @ e Hadis fafr
37. Which of the following institution is authorised ~ 37.  Frifthd 3 & B 41 I fBe™T W AW
for framing Standards for Auditing (SAs) in (SAs) T & forg g 87
India?
(1) Institute of Cost Accountants of India (1) 9RG BT A9 @Y SR
* (2) Institute of Chartered Accountants of @ T @7 ¢ f'?,) \
India .
RESIE]
(3) Institute of Company Secretaries of .
. (3) WRA B B G G
India
(4) Tnstitute of Chartered Financial @ IR B gEE (@cs) fai
Analyst of India fazeme dwns
38. Eachindividual has a ‘self ~image’. Itdoesnot 38, U fg @ Tb ‘o — B &l 21
include - Ter wfefer wE § - i
(1) Expected self - concept ¥ D ' - |

(2) Ideal self — concept’ (2) SIS ARH — RO

(3) Actual self — concept (3) IRF AA — gRT
(4) Abrupt self — concept (4) TPHNH IARH — gROT
39. “Measures of the location or position of a 39. “f&dl amafy Raver o Refa a1 v&@ & Wiy
frequency distribution are called average.” This qed A 17 T8 gaw e @

&7
(1) HiRIeT T4 Bres

definition was given by -

(1) Croxton and Cowden A

(2) Simpson and Kafka (2) T=ET vd BIen

(3) Yule and Kendall @) I T Bued

4 A.E.Wah @ 1% as

05- 3% Page 9 of 32
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40. During 2020-21 insurance premium paid 40. ¥ 2020-21 P SR 20,000% & i N
| $20,000 (including premium of ¥ 12,000 per B1 qaE far (12,000 T gfeeay &1 &) 9
annum paid upto 30" September 2021). What 30 RyawsR 2021 I & 191 NERTH &1 OfE
will be the adjustment entry necessary as on Heq gY)| 31 9rd 2021 B N SN g
31 March 20217 MTFH TR dfafte aagy —
z z T | 2
(1) Prepaid Insurance (1) Prepaid Insurance
Premium A/c Dr. 6,000 Premium Afc Dr. 6,000
To Insurance To Insurance ,
Preminm Alc 6,000 Premium A/c 6,000
(2) Insurance Premium Afc (2) Insurance premium Afc 4
Dr. | 20,000 Dr. § 20,000
To Bank Afc 20,000 To Bank Alc ' 20,000
(3) Insurance Premium Afc (3) Insurance Premium A/c |
Dr.| 6,000 Dr. | 6,000
To Prepaid Insurance To Prepaid Insurance
Premium Afc 6,000 Premium Alc 6.000
(4) Prepaid Insurance ‘ ' 1 (4) Prepaid Insurance ,
Premium A/c Dr. | 12,000 Premium Alc Dr. | 12,000
To Insurance Premium To Insurance Premium ’ ;
Alc ‘ 12,000 Ale 12,000
41. A credit sales of T200 has been credited to  41. 200T & SN Oy & forg Oy @ o
Sales A/c and also to Sundry Debtors Alc. fafder <9 eR 99 T 49 ;i‘;ﬁr",zi Ciid ﬁ'qT AT |
Which of the following is the correct e & Q o 9 EIRICHE yfafee grhi?
| rectification entry? E F z
| T X
‘ (1) Sales A/cDr 400
(1) Sales AlcDr 400 B
To Suspense Alc 400
To Suspense Afc 400
2) Sundry Debtors Alc Dr 400 (2) Sundry Debtors A/cDr- 400
To Suspense A/c 400 To Suspense Alc. 400
(3) Suspense A/c Dr 400 (3) Suspense A/c Dr 400
To Sundry Debtors 400 To Sundry Debtors: 400
(4) Sundry Debtors A/cDr 400 * (4) Sundry Debtors A/lcDr 400
To Sales Alc 400 To Sales Alc 400
42. Which is social factor of Economic Growth? 42, i afg &1 amifoe a@ S are?
(1) Caste System (1) Tl Fa=en
{(2) Inflation (2) TE TR
3 Cost (3) <IN
(4) Price @) T “

05- 3% Page 10 of 32
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\\43-. Every promise and every set of promises, 43. WP To o 9ol BT Udd 9 ORE
N, forming the consideration for each other is ..... 91 TP {ﬂ*\’ & U B T,
O HEART © |

(1) Contract 1y C’ﬂﬂq’ﬂ
(3) Agreement (3) o=E
{4) Acceptance @) F’ﬂqv‘ﬁr
44, The Board of Directors of a joint stock 44. TS g doll o1 & FRId Hsa @l
company is elected by — I E —
(1) General public (1) G ST
(2) Employees (2) AR
(3) Shareholders (3) SEEMY
(4) Government bodies 4) N Fem
45. Self — awareness, self —regulation, motivation, 45. T — SINTGSH], W — [FREE, IRON, WREHRT
empathy and social skills are the basic AR AHIND B ........... IE D A TH
. components of .......... intelligence. gl
, (1) Concrete intelligence ) e gﬁg
(2) Fluid intelligence @ T gE
(3) Abstract intelligence 3 aﬂﬁ gﬁ'&r
(4) Emotional intelligence @ s gy
46. Constructivism view of learning concept was  46. 3IfEFH @ SFRAFGIE TR B FAITH
first of all proposed by ....o000o.. . R
(1) Dewey and Piaget 1 < SR fras
(2) Green and Gradler (2) I 3R Fser
(3) Piaget and Gradler (3 fIm iR dser
(4) Dewey and Green @ S ik =
47. HDI stands for - 47. I FT QR AH T —
(1) Human Development Institute (1) A P ¥R
(2) Human Development Interest () g fawre =
(3) Human Development India (3) wr~a faer ara
(4) Human Development Index @ HE fawE Eais
05- Page 11 of 32
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48. “Cash from investing activities” does ot
includes -

(1) Payment of loans and advances to
third party

(2) Loans and advances from financial
institutions

(3) Payment made for purchasing fixed
assets

(4) Cashreceived from sale of intangible
assets

49, There are 5 black and 3 white balls in a bucket,
two balls are drawn one by one with
replacement, then it is the illustration of -

(1) Independent event

(2) Compound event

(3) Dependent event

(4) Mutually exclusive event

50. Secret reserve may not be created by -

(1) undervaluation of stock

(2) rentreceived credited to Building A/c

(3) amount spent on addition to assets
charged to Profit & Loss Account

(4) an amount set aside to replace the
assets in the books

51. Which of these is not an advertising objective?
(1) To increase sales
(2) To introduce new products

(3) To decrease demand in market

(4) To develop new market

48.

49.

50.

51.
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(1) ORR UHHRI BT YT o8 T RO
ERSIDE]

) TR demi 4 ) ™ %o 9
i

(3) W) TuRElt edies 3y YA

@ ord kel & w9 Aes
i
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X ¢
Which one of the following is criteriafor taking 52, /=1 § & &9 #@ugvs & Wgad a~<IR®
decision under Internal Rate of Réturn (IRR) T X (IRR) fafr 7 fofg for s €7
method? (1) 9 I=IR$ 99™ ¥ (IRR) Tofr
\ ) t T (Cost of Capital) & SRR &
(1) IfIRR is equal to the cost of capital @ . . - (IRR) ‘U'g.'rﬁ
.(2)" IfIRR is greater than the cost <;f capital @I (Cost of capital) & 21fer® &F
(3) IfIRR isless than the cost of capital (3) T ARG W W (IRR) o
. RIOFT NI (Cost of Capital) 9 &+ &
(4) None of the above @) SWEE Y PR &
53. What is the Financizl Tarisdiction of the 53. e snadwr &1 foxlig &=nfder @ 87
District Commission? 3 1
(1) Upto 1 Crore 1) 135 T
(2) Upto 10 Crore @) 107RS T®
(3) Upto 5 Crore B 5FIS T ’ '
(4) Upto 10 Lakh . @) IOGI'IG GEY
54. If three independent activities, occurs 54. I} T9 WO TSN U T Hedl &
simultaneously [Pagpac)], what will be [Paapagy], T UTiyaar 8Rfi?
probability for that? , :
(1) PpxPe)x Py (1) P xPr xPg
(2) P +Pe+Po (2) Pw+Pm+Po
(3) Pw-Pm-Po il 3) Pw-Pe-Po
@) Pans o @ Pansacy
55. Fill in the blanks — 8 B 55. Raa =i o yfif o —
2020-21 | 2021-22 Absolute | Percentage 202021 | 2021-22 Absolute Percentage
. . cha:ges cha;ges | . . | (g‘l:?:'n:agt;si) (ﬂé:’iaig;??ﬁ’ )
. Eic ? 16,00,000 7 20)
Revenue ? 16,00,000 ? (20) (Revenue) |
(1 T 22,00,000;% (6,00,00) (1) +-% 22,00,000;X (6,00,00)
(2) T (4,00,000) ; ¥ 20,00,000 2) T (4,00,000) ; % 20,00,000
(3 <20,00,000 ;3 (4,00,000) (3) <20,00,000 ;% (4,00,000)
(4) 14,00,000 ;T (2,00,000) _ (4) ¥14,00,000;% ¢2,00,000)
56. When was ‘SEBT established? 56. SEBI & WU 59 §57
1) 1990 . (1) 1950
(2) 1988 (2) 1988
(3) 1989 " (3 1989
4) 1982 @) 1982
05- 3 Page 13 of 32
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57. Trial Balance may be useful - 57. ‘Geuc TENE & Udhdl © —
(1) to locate errors of commission 1) fEuE g&E asl%?:h BT Ul
(2) to ascertain arithmetical acciracy of & o
2) @ g8 B AT ggar Fi gar
the ledger accounts
8 _ o e @ forg 7
(3) to locate errors of Principles @) fagia @ G‘W FT TaT ?fl'ﬂﬁ
(4) to locate compensating errors % forg
L@ Waﬂmmwwﬁaﬁm
58. Which of the following is/are called Direct 58. Fifdd # 9 oF ¥ yoe 20 Sean
expenses? - g2
(1) Cost of special moulds @) R e @ ar
(2) Patent and Royalty for a specific cost (2) T [Py aFid SHE & $9 g
unit FRPR ToF
(3) Cost of improvemeént of defective :
4 P (3) [UYE SR B YR DI AR
product
(4) All of these . @ I wh
59. ‘Who controls the organized Capital Marketin = 59. WRd # ifod ol IR &1 P Frifa
India? FaT 87
(1) Reserve Bank of India (RBI) 1) Red ¥ it R
(2) SEBI (2) <&@
(3) Both of RBT and SEBI @) Rod § sife R aiiv 34 ST
(4d) Central Government () LR PR
60. Which bank was established in 1982 forexport ~ 60. 1= # = o1 §% 1982 # wnfia gam sir
promotion and import loans? Frafa dicarse g el & fol 0T Jar 27
(1) World Bank @ e d
(2) Merchant Bank (2) #E< §P
(3) Asian Development Bank 3) R¥nrE fde™ EEq
{(4) EXIM Bank @ tfE 35
61. ... wdevelopment isrelated with 61, ... faPTg RN, Beun, G SR T
perception, imagination, reasoning and JEE 3 TR 2
problem solving. R
(1) Social (;) SR
(2) Emotional @ .
(3) Cognitive @) G
(4) Physical @ it
62. Horizontal Analysis is a - 62. &ftw fazewo ue 2l
(1) Time Series Analysis (1) e Siof fRzemor
(2) Static Analysis 2) Wfde Rz
(3) Comparison of statement of one period (@) T @Ed & e Y e
(4) Inter-firm Analysis @ eraHd gor
05- 3k Page 14 of 32
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64.

65.

66.

67.

Cash-in-hand

Preference shares matured after one
year

(3) Shares of unlisted companies

(h Money ‘market deposits for very short
N\ period

@
@

11 Months old khushi -attempts to identify and  64.

grab objects and puts them in her mouth to
explore and study it. According to Jean Piaget,
this is the -

(1) Stage of formal operation

(2) Preoperational stage

(3) Sensory motor stage

(4) Stage of concrete operation

The coefficient of variation is a percentage 65.

expression for ‘which of following?q
1)
2)
(&)
@

Mean deviation :

Standard deviation
‘o LF ¥

Quartile deviation

None of the above

In which method of depreciation, asset cannot  66.

be written-off to zero?
@)
@
&)
@

Diminishing:Balance Method
Equal Installment Method
Anniity Method

i M
Revaluation Mf;thod \

A Principle of M;magement' given by Taylor 67.

is -

“Cash Equivalents” includes - 63.

“Jehe ged # wfer ¥

(1) TN

(2) T 9 915 OEE JREN s

(3) SNEiEg P B W

@) f—areT sl 9 TET IOIR #
TG

11 718 ! el aegail 31 9gar, Ubsy 9

30 HE 4 S PN S UsAE T AT

FRh 31 o9 OIS & oFNR, I8 SRR

&

@

2)

AyaiRe wfshar &7 srawerr
TaREAIS JTTRIT

(3) It — Ui araRRn

(4) o dffFar aewer

foreror o FreafaRaa #§ 9 feaar fvea
(T / FoTp 87

(1) w7 foaes

2) = foger /vy f[dae

() TRE fEes
(4) SRR AW P TE

Te™ @ f5a oy § ety g o
JrgferRaa w8l 81 [har 87

(1) T g8 9y vl

(2) v foea A

(3) arfat fafy

@ YIiF [y

SR & gRT X T vy &7 ua fgia
T -

(1) Unity of command. (1) 2IeY P THar
(2) Harmony not discord (2) =AW, A1 &% oG
(3) Ordex ! (3) =Ee
(@ Equity ? @) G
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68. Which is the oldest form of Business 68. CIAHNAF TG Bl HHMTH WOU BIAY
Organization? 87
(1) Sole Proprietorship (1) o @i
(2) Company 2) DUH .
(3) Joint Hindu Family Business () wgw fg uRaR e/
(4) Partnership @) GEEN
69. ICT stands for - 69. SIETICT T Aaed & —
(1) Information Classroom Teaching (1) STRHIN FArawd Sz
(2) Information Communication @) sTBhtEE Wﬁ'@ﬁ St
Technology . i ]
(3) Informative Computer Teaching @) FTHffT TR A
(4) Induced Computer Technology 4 s{szg\r;‘ HET TGO
70. Identify the correct pair - 70.  E& T B UFANIY —
(1) public company — Minimum 5 (1) e BUHl — FAad 5 aa
members
(2) private company — Minimum 2 () o Hu — gad 2 HE
members
(3) Partnership — Minimum 8 members @) wEEN - A 8 A
(4) Cooperative-society — Minimum 20 .
members, (@) TEPRT AR — A 20 T
71. The Principle of Maximum Social Advantage 71. aR@aa wFfie @ & Rigma @
is given by - afre® o —
(1) Dalton (1) a
2) 1.B.Say @ @9
(3) Chapman (3) =u
(4) Findlay Shirras @ forse Rrm
72. Imprest system of petty cash book - 72. NI AGS W A S YA TSR -
(1) is helpful for petty payments 1) g3 'ﬂ'ﬂ'ﬁﬁr H HEE
(2) is helpful for small value payments (2 TH BH T 1) T GIGIRCR LI
which are generally repetitive in nature gmmﬁm IR-9R B @ UH &
)
(3) (1) and (2) both -
) @) ()T )T
(4) is helpful for Managers @) YeERl @ 30 AEHE
73. The system approach includes - 73.  wuitel SurTH # wfafera € —
(1) Input, Process, Qutput and Feedback (1) s7ge, ufhan, eecye iR ufighe
(2) Process, Criteria, Input and Feedback (2) T, wFEs, g0 SR uRigfk
(3) Criteria, Input, Output and Feedback (3) HFES, $IYE, ISeye Jik ufyfe
(4) Process, Input, Qutput and Criteria (@) wfpar, $Ye, sseye o ArMes
05- Page 16 of 32
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4. Management Accounting is mainly related 74. FEH SRaie JEIT: W § —
with - ‘
(1) Projection for future @ wfaw & forg wer
(2) Cost ascertainment @) @rma fRrerivor
(3.)\ Past and present events @) EIeN I AN TeARll |
(4 Quantitative information only (@) ael IRATHS A
75. 'The effect of the Deficit Financing is - 75. SRt YR oY w9 o 8 —
(1) Inflation 1) ¥ TR
(2) Deflation (2) Y& aEET
(3) Reflation (3) HaT Gk
(4) Stagflation @ g BT
76. The rate at which the Reserve Bank of India 76, /8 & W X7 T e § wHRE T
gives loan to the Commercial Bank is called - G2l BFEUTéﬁT 2 9 WP FEI -
(1) Interestrate (1) EHGT &
(2) Bankrate @
(3) Exchange rate 3) faFHg ==
(4) Sales rate 4) T =
77. “Buyer Motives’ have their place or position  77. ‘shealt IROTY’ AT Y I&A & —
between -
(1) Needs and Action @) AP AR FRIAT @ T
(2) Desires and Action 2 T SR BETEA T
(3) Zeal and Action (3) S N RAE F A
(4) Interest and Action @) ofF iR FREE & 7
78. A company is interested to redeem 5000 78. U® HUHT ST 5000 AR 3i 1003 ifesT
preference shares of ¥ 100 each by issuing G| qrer M Bl Tl § ogEe fery
20,000 equity shares of T 10 each at a premium 20,000 WEIRY 3F 10 Tl 2 TWT 3
of T2 per share and remaining from its Wifem TR Frifia o der I RRy Suee
available free reserves, then amount to be pESAGER] ¥ T e T 8, ar el
transferred to “Capital Redemption Reserve” e W R R ewraRd @
will be - Elsi
(1) Zero (1) =9
2) ¥3,00,000 (2) 3,00,000%
(3 ¥5,00,000 (3) 5,00,000%
4 2,60,000 ) 2,60,000%
05- % Page 17 of 32
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79. A project of T 40,00,000 yielded annual profit

79.

40,00,000 X®! TH AT ¥ 12.50%

of T6,00,000 after depreciation @ 12.50% but sfeRad B fg 50% & &v @ em;;m
before tax (which is 50%). Calculate pay —back e 9 llé A 6,00,000% B
period. | Sl o/ T B |
(1) 6.67 years M 667w a
) 4years @) 47§
(3) 5 years (3 59
4) 2.86 years @ 286ay
80.  Which is not included in Outdoor advertising? ~ 80.  9Ter RSN ¥ Far wnfer <&} &7
(1) Wall writing @) Dar e
(2) Posters and Hoardings (2) URRR T B
(3) Sandwich man advertising (3) vsfy A9 fasmmg
(4) Display advertisement @) Jgsor AU
81. Income method is related with - 81. g fafy & gwfRm & —
(1) National Income (1) T e
(@) Tax (2 =
(3) Goods (3) Her
(4) Bank @ o
82. Find the probability that a leap year will have 82. & &7 af 3 53 HIR AT AMGR B9 &)
53 Fridays or Saturdays. TIRIGT ST &9 |
o 2 @ 2
@ 2 @ 2
@ 2 @ 2
7 7
@ 2 @ 2
7 7
83. The average profits of a firm is T98,000. The 83. T B4 & A M 98,0003 ¥ 39 B4
total assets of the firm are ¥ 10,00,000. Value o B gEREF 10,00,000 THT F| ary
of other liabilities is ¥ 5,00,000. Average rate TIal & Ted 5,00,0003 2 | 99T YHR D
of return in the same business is 14%. AR § Y W’ B 89 149% & | aie
Determine the value of goodwill from o @ Uoipeer R gRT =iy @ g Bl
capitalization of average profits method - TOFT HF —
(1 7,00,000 (1) 7.00,000%
(2) ¥9,80,000 (2) 9,80,000%
(@) ¥2,00,000 (3 2,00,000%
@) <3,00,000 @ 3,00,000%
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\84. National Income includes - 84. <ITT ot ¥ wfwfera € —
(1) Rent @ A
. (2) Wages (2) oI
(3) Profit 3) o™
(4) All of the above @) SR T
85. MGNREGAisa- 85. HIE —
(1) Housing Development Programme (1) ey e Hrisd
(2) Agricultural Development Programme @) TN fAem CAUET]
L
(3) Employment Guarantee Programme (@) SR TREN HRIHH
(4) Industrial Development Programme @ enfe e BRIBA
86. Indicators of Mental Health includes — 86. AFRIE WA © Aoam! § M § —
(A) Emotional Balance (A) SERIGICI GO
(B)  Sense of Humour B) EW“’I CaRICRY
(C) Intrinsic Motivation (C) HiaRe ISR
(D)  Extrinsic Motivation (D) STET AFHROT
(1) A,BandC (1) A,B3RC
(2) A,BandD (2) A,B3RD
(3) A,CandD (3) A,C3RD
4 B,CandD @ B,C3RD
87. Which element of teaching model refers to  87. o WA BT B A 9 RErr & Sl
objective of teaching? ¥ et 87
(1) Focus (1) 89 §g
(2) Syntax (2) a9 @0
(3) Social system (3) EIIE YOl
(4) Support system @) TEESH YUIel
88. The factor which effects the economic 88, P qUTaR BT WG B dIell TP
environment is - g -
(1) Natural Resources @ mm IR
(2) Human Resources (2) 9T TNIRHE
(3) Social Institutions (3) Wﬁﬂ-ﬁﬁ TR
(4) Al of the above @) SR G
89. The undesired and problem behaviour can be  89. raifse @R GEEN FEER 6 T WU W
modified effectively by using principle RATS,  coomersesmeseres & fygia &1 ST
o) (TP e T ST T &
(1) Classical Conditioning (1) ST ST
(2) Operant Conditioning (2) ToramIE e
(3) Trial and Error Learning @) W QiR FRe
(4) Multidimensional Intelligence @) g giga
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"R & fRar @ Righa ey Rard? |

90. Who gave the Principle of “Span of Control”?  90.
(1) F.W. Taylor (1) TP S, TR
(2) Graicunas ) ﬁm {
(3) TFlippo 3) ffermy
(4) George R. Terry @ < IR /
91.  Which of the following is not a component of 91. T ¥ “Wie RvAT 7 DI 9T U OCH
“SWOT Analysis”? 8l &7
(1) Threats 1) dHFc
(2) Strengths (2) wfeaai
(3) Weakness 3) wHEEIRI]
(4) Options ~ @ fwe
92. ... development has three phases per- 92. ... ... e & T o ¢ — gRuRs,
conventional, conventional and post - TNURE 3R W — IRIRS & Trﬁﬁx’ﬁﬁﬁﬁ
conventional to distinguish between unethical AR AR & 4 iR wea § IR Ao B
and ethical and select ethical. ‘gﬁﬁ gl b
(1) Social M) awE®
(2) Cognitive 2) S
(3) Physical @) TRF
(4) Moral @ e
93. The Chairman of the District Consumer 93, el Sudigar e 9fRyg ST feer g
Protection Council is - T -
(1) District Judge (1) e ~mmwe
(2) Commissioner 2) 1w
(3) District Collector ¥ 3) Torem Peoigex
(4) High Court Judge @ = YA & R
94. A and B are partners in a firm, thei% capitalare 94, T 3R ' vH B ¥ WEER ¥ ST Toft
T10,000 and 20,000 and undistributed 10,000 ¥ T 20,000 T T offdaRa wag
reserves ¥ 10,000. They admitted C for 4% 10,0003 & 9= & 3 uRW @ forw
share. C brought ¥ 20,000 as his capital. Find yaer f&ar) <y 20,000 T 0= & & &g
the value of firms goodwill - ﬁmlﬁﬁwﬁmnﬂwaﬂ‘r—
(1) ¥80,000 (1) 80,0002
(2) 20,000 ' (2) 20,0002
(3) 40,000 (3) 40,000T
4) 60,000 4 60,0003
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Buying decision process starts with - 95. wa foly wisear Wy Bkl & —
(1) Need Recognition (1) Saegehar B 9gaN g
(2) Evaluation of Alternatives ) fawel o1 geeT 9
(3) Information Search @) gEERil @ Es ¥
(4 Both (2) and (3) @ SR (2) 4R (3) ¥
96. Self reliance campaign (Atmanirbhar Bharat 96, SRR WRd A fwiferad 49 5
Abhiyan) was launched in which of following TR /9d § g A o
month/year?
(1) May 2020 (1) ¥$2020 <% .
(2) Tune 2020 (2) < 2020
(3) July 2020 (3) TR 2020
(4) August 2020 (4) aFTE 2020
97. Which of the following is not a function of an  97. =fafeg § @ @9 o1 S 6] U6 BN
entrepreneur? &l 87 .
(1) Searching opportunities (1) 3R] B @S BT
(2) Doing innovations 2) TEARR BT
(3) Not adopting changes (3) uRedsi &1 &l S=ET
(4) Bearing risks 4) NRe¥ SoFr
98. The concept of Five Year Plans —in the 98. doadid T & HepeUHT ARG e
Constitution of India was borrowed from - # {5 3} o Y TR P
(1) Russia () =
(2) England @ gers ‘
(3) United States of America (@) <gF T FfRPT
(4) Germany 4 . ST
99, Which organisation was working -preceding  99. fr=fofag 3 9 ®F w7 W6y fdvd IUR
World Trade Organisation from followings? He BT qhadi or?
(1) General Agreement on Tariffs and §)) My ol FUR ) IER G9Sar
Trade (GATT RIS
) Intem:tional lzflonetary Fund (IMF) @ K @
(3) International Bank for Reconstruction 3 gﬁﬁhﬁ R fwwm @ foe
and Development (IBRD) IR S
(4) International Finance Corporation @ RIS ot P
(IFC)
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100. On the basis of Economic Survey, India is 100. Ra @nffe gic & o w1 wg SR
known as - &7 /
(1) Developed Country () TR /
(2) Developing Country @) TPt s !
(3) Under developed Country 3) IR T
(4) Highly Developed Country @ v i T o
101. A type of entrepreneur on the basis of nature - 101, Y&y & MR TR SeH FT TP YR —
(1) Fabian Entrepreneur 1) e SR
(2) Joint Sector Entrepréneur (2) \gF &F S
(3) Trading Entrepreneur (3) ARG TEH
(4) Co-operative Entrepreneur @) VEHRI SEE!
102. Sweat equity shares are issued by the 102. Wi SR} 3fer Ua HU= GRT SR FFT Sy
company- g -
(1) only to its Directors v (1‘; el IS9P TSR] Bl
(2) only to its employees Q) Dad ITHB FHARG] @)
(3) toits Directors and/or employees (3) TS HAED] q°T /AT FHARGT By
(4) only to its shareholders () Dde SUD ARG B
103. When was Reserve Bank of India established? 103. Roid §% sife SRy 95 wmuen o9 g o7
@) 1% April 1930 (1 1 3« 1930
(2) 1% April 1935 (2) 1 s¥ie 1935
(3) 1% April 1937 (3) 1 s 1937
(4) 1" April 1938 () 1 37 1938
104. A lecture delivered to school students by an 104, hell B $Y fRls gRT 2 T @R
expert is known as - P 2 -
(1) Intrapersonal communication () 31 TS
(2) Interpersonal communication @) SeFafee wHT
(3) Mass communication (3) <E TN
(4) Non - verbal communication @) srmTfe Hww
105. The agreement between Partnership Firm is  105. WEEM ©¥ & <99 99§ &7 $ar oGt
called ............. g -
(1) Partnership Contract 1) wE=ER ST
(2) Partnership Act 2) wEER R
(3) Partnership Deed (3) YUEER! Yorg
(4) Agreement 4) Gushar
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by
b

06. How can resistance to change be reduced? 106. GRTIT URRE BT BY o9 b S wHar
k ?

(1) Increase in workload %(.1) VR H gy
(2) Overcontrol (2) 3ifE o
(3) Fear of financial loss 3) o = @7 W
(4) Effective leadership @ wEEmengE R

107. Who developed Jigsaw method of teaching? 107. s gv R Rrv ggfy @ 9ot

ot Tan? .

(1) Johnson - David & Roger 1) ST - SfES SR AR
(2) Sharan and Sharan (2) O AR FRA
(3) Elliot Aronson 3) sfeme aneTad
() Slavin @) R ”

108. The Debt-Equity Ratio of acompany is 2:1,the  108. U® HEAT Bl ﬁ;UT—'\TiﬁT ‘iﬂﬁmﬁ (Debt-
company is going to issue Bonus shares. After Equity Ratio) i2:,1 ?, B G SfEl BT
issue of Bonus shares, the debt-equity ratio of ot oo o Y& %l g el & ﬁ"hﬁ
the company will - % T, B @ O S il

(1) Increase ) qﬁg LU '
(2) Decrease @ waeh N
(3) Information insufficient (3) ST I
(4) Not alter @ FE g TE S
109. Which central tendency has been used to 109. T T&m & BIAI @ gy B AEq R
*  measure the average level of wisdom osf the M & R P § g e war b
students in a class? ST &7
(1) Mean 1)
2) Mode (2) SgaI®
(3) Median (3) DT
(4) Geometric mean . @) UIRKR W

110. As per social audit assessment index report 110. < 3iff¥e i s Ruid 2020 %
2020, social audit is applicable to which of the AR, e sfifee frefafaa § 9 e
following scheme? YRS TR AL BT 87 ' ‘

(1) MGNREGS 1) TR (MGNREGS)
2) PMAY-G @) TWIAES. PMAY-G)
(3) NSAP 3) TITagd (NSAP)
(4) Allof the above @ SRE T
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I11. Which of the following is not an element of 111. f=feaRaa & & S wr Hag= o Eb‘riﬁér
promotion mix? el &7
(1) Branding )
(2) Advertisement (@) fasmo
(3) Sales Promeotion ' (3) fapa waE
(4) Personal selling @ ferTd g Vi1
112. Interest-on-calls in arrear may be charged - 112, S&RT 9 ) O @S fFar @7 goar
(1) 10% per annum or the lesser rate g - : »
prescribed by the Board of Directors () 10% af¥F <= | A1 AP qvsd
(2) rate prescribed according to table F gNT FEiRe &= o 9 &1
only (2) g Aol Uw gt PR ev 9
(3) rate prescribed by the Board of (3) FId eIl TS gRI FEiRT <
Directors only ) q
(4) No interest is éhargéd @) P S TE IGAT W
113. In which sector, Disguised Unemployment can  113. ¥Rd # Bd g&§ R e &y § o
be bbservedin India? ST 27 =
(1) Agriciltural sector 0 e
(2) Tndustrial sector ) Shenfirs e
(3) Banking sector (3) dfeT &
(4) Service sector @ o &
134.  Which. of -the following is another name of 114. = # & B &1 ST o0 GEPH H1
consumer’s price index number? TR A &7
(1) Sensitive Index Number (1) dagea gasie '
(2) Composite Index Number ) 99T gD
(3) Cost of Living Index Number (3) il e =9 gEeie
(4) Wholesale Price Index Number @) A TH qEPID ‘
115. What will happen if the rate of employee 115, ®HaM sEaTH & &) IVF B9 W R
turnover is high? , ERTT?
(1) Production will increase (1) STET TT
(2) Cost will come down () o T
(3) Reductionin training expenditures (3) uRE =&t § o
{4) Drop in employees morale @) THE weEe  PREe
0s5- & Page 24 of 32
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(1) Planning
(2) Direction
(3) Co-ordination

(4) . Organization

T following —

Statement-1 All contracts are agreement but
e all agreements are not contract.
Statement-2 All agreements are contract but

all contracts are not'agreement.

~1

(1) Only statement 1 is correct
(2) Only statement 2 is correct.
(3) Both statement are correct

1 (4) Statement 1 is-wrong:

(1) Primary packing material

(2) Specific material for specific product
(3) Material of nominal value

(4) Basic raw materials

analysing of data about problems relating to the
marketing of goods and .services are called

---------------

(1) Product Research

(2) Marketing Research

(3) Marketing Database

(4) Marketing Environment

Adam Smith?
@ 6

@ 5
@ 4
@ 3

HKl6. ..............1s the essence of management. 116.

117. Choose the correct statement from the 117.

118. Direct material does not includes - 118.

119. The systematic gathering, recording and 119.

120. How many principles of taxation are given by  120.

@ TS

e & 9@ wd s ghig —

-1 Wil ST TERTE B © elfehe

HT— 2 Tl SEvg STged B § wf
i Srgey TEvTd e Bl 8 |

(1) o9 P 1WE 8~

(2) Baa BT 2 B

@) dFiE e EE

@4) I 13ea T

yemer wE # wfer A8 & -

(1) e AfeT

2 f[firs sae o foy RS amh

(3) FFFTE e @ At

@ e e wrEl

£

(1) TG I
(2) fuor rgerms
(3 v Seew
(4) &I grETEReT
TeH e ¥ RO @ e Rigr fig
#
1)
2)
3)
@

I IR

W = A
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121. The definition of Acceptance is given in which 121. B[ @ IR¥T R ey s,
Section of the Indian Contract Act, 18727 1872 % fbe ot 4 & 8 27
(1) Section 2 (h) (1) =T 2(h)
() Section 2(e) (2) H9RT 2 (e)
(3) Section 2 (b) 3) =T 2(b)
(4) Section 21() @ =R 2G3)
1o
122. The Chairman of the National Commission is 122, <TS% SIINT & oreaer B Figf s gRT
appointed by - Bl IR 87
(1) the President (1) Uy grRy
(2) State (jovemment (2) TS EER R
(3) the Chief Justice of the Supreme (3) SR R @ e =
Court, ERT
(4) Central Government y @ TT WBR ENI
123. Who-propounded Trial and Error Learning? 123. w3 3R Fe i fhas grr afuilRg
’ faw wTaT?
(1) Skinner @) R
(2) Thomdike ! 2) erisE®
3) Pavlov 3) uUEad™
4) Wurdt @ dc
124. The first step of control process is - 124. 59301 wltbam o7 wed =Ror & ~
(1) Appraisal of performance (1) PR FT oG Bl
(2) Corrective action ) TERTE
(3) Establishment of goals and standards (3) @&} UF ST @7 Ay
(4) Determining the reason for deviation @ foeE & BRI @7 59 T
125.  From following which is a Public Sector Bank? 125. 3/ & @ & W widaife &5 @y §3 &7
(1) UTI O FAamE,
(2) ICICI (2) EHEHE.
(3) SBI (3) THdaE.
@) AXIS ﬁ @ R
05- 3% Page 26 of 32
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136+ “Management is the development of people, 126. e =fkrdl &1 faHra T 9 % awgell &1
not the direction of things.” This statement was s 1Y g8 wue fhwe grRr foar T
given by - ‘ 27
(1) Henri Fayol @O = DA

. (2) Peter F. Drucker 2) dYiex UF, Y
(3) Lawrence A. Appley (3) <&RY T TYell
(4) F.W. Taylor ) U S, <o

127. Which statement is called as “100 percent” 127. & & fdavor o= 100 wfera” faavwer o=

statement? HEerdl 87
- (1) Balance sheet (1) faar
(2) Common-size Balance sheet (2) UEMIPR &gT
(3) Comparative Balance sheet ° (3) qae g
(4) Comparative profit & loss account @) gD AM—gI T

128. Which of these.is not a characteristics of sole  128. Frifeiaa ¥ & e @i &1 faeisar et

proprietorship? ' g7
(1) Quick decision n w e
(2) Limited liability ’ @) < i
(3) Independent existence @) oy IRkaw
(4) Both (2) and (3) @ =M 2R (3)

129, Cash flow statement is - 129. s RAaRwT § —

(1) Future financial forecasting technique ) 9 R gatgae &1 aesie

(2) Related to forecast temporary cash ) IR Ves MTTTHARI BT A
requirements o & g

(3) Technique of analysis of past (3) YEIBIENT Aoy € GFID

(4) Related to shown financial pattern @) el e TN 9§ Tk

130. Which law of learning states that if connection  130. drae @1 ®iF W FEm s g 6 oal
between stimulus and response is accompanied e ok gfitea @ 4@ Gy iRvis] D
by a satisfy state its strength of connection is ORI BT &, o) S 9 T 9 W) &7
increased? ; 1) o B

(1) Law of Readiness @) o w1 FrE
(2) Law of Exercise

(3) Law of Disuse 3) il P e
@) Law of Effect @ s PR

131. ‘Which of the following agencies is responsible 131 Fre § & @1 ¥ Yol WRd TR

for formulating the Fiscal Policy in Tndia? Sy 7 FET Bl 27
(1) Securities and Exchange Board of '
India @) 9T wRefy @R R 99
(2) Reserve Bank of India (2 Rod 5 it e
(3) Ministry of Finance, Govt of India ) .
(4) National Bank for Agriculture and () RS PR Pl A
Rural Development @ s Py &k o Rew 6
05- Page 27 of 32
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132. Gross Working Capital represents - 132. 9FHd S ol gt o & -
(1) Total Assets (1) Ha gHRy
(2) Total Current Assets (2) H TIe] TR
(3) Total Current Liabilities B3 T A <R
(4) Excess of Current Assets over Current @) =1 IR BT =] < REl W)
Liabilities e
133. For calculation of cash flow from operating 133. uR=mer feparail & Ao waTE B WO B
activities which of the following item will be 3 o f= 4 9 59 7 @1 "o
deducted? SITQ[T?
(1) Increase in inventory 1) g ¥ fE
(2) Decrease in inventory 2) wu T o
(3) Increase in trade payables ()] ARG 3Iar & Eﬂ?&'
(4) Decrease in‘accrued income @ <IfSTg o § a0
134. Which agency calculates National Income 'of 134. R & AT T BT AThaT S qel
India? Toidl B 9 87
(1) Reserve Bank of India 5 (1) 9RO Red §6
(2) Planning Commission (2) ST ATRT
(3) Ministry of Finance @) g daem
(4) Central Statistical Organisation @ = iRee HreT
135. Which type of development has relatively high 135. 59 UeR © o 3 ARG BT
influence of heredity? 3T S WG Brar 87
(1) Social @) e
(2) Cognitive (2) \IFTHP
(3) Physical 3 IRR®
@) Moral @ ke
136. Economic Development can be measured by - 136. e &%/ AT o7 waaT & —
(1) Real National Product (1) IS ISR SR A
(2) Death Rate @ TYRI
(3) Population Rate (3) SFEET X G
.(4) Education Level @4 Rerdwra
137. A Banking co; desires to redeem 5000, 137. T% SR &. 3 5000, 10% arar =0T U5
10% Debentures of ¥1000 each at par cost wE 1000% 3ifbd qew & Sueer waiw
available sufficient divisible profits. In this oo AT el oM S TrEd) 2
case, how much amount should be transferred 39 uRRIfY d o ¥ =mur vz o
to Debentures redemption reserve account, as W WK § ¢IRT 71 (4) T Sawasdar THY
per requirement under Section 71 (4). TRIIRG &Y SEh?
(1) ¥50,00,000 (1) 50,00,000%
(2) ¥7,50,000 @ 7.50,000%
() ¥12,50,000 (3) 12,50,000%
4) Zero @ =
05- % Page 28 0of 32
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. —
138. An entrepréneur who does not want to adopt 138, & Sedl S f&dr UHR BT FAmAR el
any kind of innovation is called — U TTEal, FEERT & —
(1) Innovative Entrepreneur (1) TavaRie Serl
(2) Imitative Entrepreneur 2) srgEoRie Sl
(3) Fabian Entrepreneur (3) EET SE
(4) Drone Entrepreneur (4) el S
139. “The Demand for anything at a given price is 139. “fveli & g8 @a W &4l agq =1 =FT
- the amount of it, which will be bought per unit SHP! T8 AET B, O 96 oHa W) fE
of time at that price.”™ w7 fagy W @ SR | .
Above definition of Demand is given by - AT B SURIGT g & T8 ot —
(1) Benham (1) 984 : v
2) Mill 2 f= N .
(3) Penson 3) v+
(4) Bober @ R W 1
140. A and B are partners sharing profits in theratio  140. T 7 Y 3:2F U ¥ An gicd g9
of 3:2. They admitted C. A surrenders 1/5 of his TEER § S WA o & A v
share, B surrenders 2/5 of his share in favour of I By @7 1/5 o9 aafda fear, 4 \e’f
C. What will be the sacrifice ratio? Ao Ry 1 /5 @Y waria fpar|
ST T BITY
a1 21 P 21
2) 1:2 @2 12
3) 34 3 34 ;
4) 32 @ 3.2
141. Operating cycle period is equal to - 141. UR=Ere a% A & W © —
(1) Material Storage:Period 1) GrEf "ee e
(2) Conversion Period (2) wUFER Jaf .
(3) Conversion Period + Debtors (3) FUTRYT AR + SHER WAST Iy
¥ Collection Period — Creditors
B Payment Period — AR G S vy
(4) Material Storage Period + Conversion (@) T HUET AR + UTIRT ey
Period + Finished Goods Storage + BT e FETT o afy + SER
Period + Debtors Collection Period — ! *
Creditors Payment-Period HTETT S — AR T S
05- % Page 29 of 32 "
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142. An ideal Teaching Learning Material should 142, U® 3mgsl Rrmwr sitemw wrefl ) @Rt —

be -
(A) Interesting A W
(B) Informative (B) LeIH®
(©) Rigid ©) TR
(D) Accurate D) wdP
(1 A,BandC (1) A,BIRC
(2) A,BandD 2) A,BIRD
(3) B,CandD (3 B,C3RD
4 A,CandD @ A,C3RD
143. Contingent contract is ................. 143. ARG e B & —
(1) Tilegal 1) 3y
(2) Voidable 2 =
(3) Legal 3 ¥
4) Void @ ot
144. Which of the following is an example of 144. f=ifba 4 & = W7 T Ry a7 BT
Indirect selling expenses? T 9ETER 87
(1) Salary of Séles Manager (1) fopa v 21 Ao
(2) Catalogues and price lists @) T g R
(3) Carriage outward @) SEF e ISl
(4) Material used for packing of a product @ S 1 AfET F vy arEl
145. Out of the following, which is not a wasting 145. =Tifba § & S a7 &= TURT F7 Se=wOT
assets? TE 87
(1) Oil wells (1) D FY
(2) Gold mines (2 @ G
(3) Copyright for five years 3) uT T§f % fou ufefraRer
(4) Land @ 9f
146. Which vicious circle has defined by Ragnar 146. VAR 64 = 99 9 g¥Rh 19U far
Nurkse? off?
(1) Vicious circle of poverty (1) T B gTEm,
(2) Vicious circle of population (2) SRS BT D
(3) Vicious circle of unemployment (3) RSETE FT qem
(4) Vicious circle of illiteracy @ aRET P g
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r
147. Tn which product / service, composite costing 147. AR @nTa fARy, S<ure @1 i~ AT =14
is useful to calculate final cost of a product — ;ﬁ?@[ & forg g SeE /W %_S' SRR
(1) Fevierd
(1) Printing press
(2) Hotel > @ =
(3) Motor car 3) X DR
(4) Road construction @) e F
148. Tn which of following year, the proposal to set- 148. fferiaa # ¥ &9 9y, ¥Rd WER gN
up National Recruitment Agency was. approved AL St ToRl &) RO @ WA Bl
by Government of India? ‘ HopRr &l T ofi?
1) 2020 (1) 2020
2) 2021 . 2) 2021
3) 2022 (3) 2022
4@ 2019 @) 2019
149. When special techniques has been introduced 149. wid il faf¥re a@-iie &1 ST FEr |
in production work in a unit, people of that TS B W WNT SRR B WY Bl 89
industry became unempioyed. This type of BIFET SRR HEd 27
unemployment is called -
(1) Structural unemployment (1) FRES R
(2) Disguised unemployment ‘ 2) T RSN
(3) Cyclical unemployment (3) BT TS
(4) Technological unemployment @) dEIReE SIS
150. Which of the following is not the objective of 150. FIifa § | I & sfpaor Sewd el 87
audit? 1) w1 9 sk fRia Refa o g
(1) Toknow true and fair view of financial TIT
position ) E{[@H’f ST T SR
(2) To detect errors (3) U B TAT
(3) To detect fraud @) waed T e & o
(4) To act as Consultant to the Directors ; & w7 % B BT
and Shareholders
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